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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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05:40 57 30.0 5| 1Ri%005:40 B (REHERSE)
06:05 57 30.0 [2=| {RiBe06:05 Bz (AERE)
09:45 57 30.0 FA| 1E2i%@09:45 B3z (kPBHERESE)
13:00 57 30.0 PH| {Ri%@13:00 B (RAEES)
23| 228.0 (4%) 120.0 32 53KEC: 2373.0, PH: 6.5

FERGERIPH (10.29) 5igEPH (6.5) REK K, AT
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FERZEBIEC (1966.0) 5FMEC (2458.0) REIRK, BH/E

EYGERPH (10.4) 5i8EE (6.5) REKK, BHEE.

LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.
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BfiE) | BRI (FD) | EE (EH/AR) | XK R

06:35 53 30.0 FA| {Ri%@06:35 B (kAEEE)
07:00 53 30.0 (Z=| {Ri%@07:00 Bz (FRAMEHSE)
07:30 53 30.0 |Z=| {Ri&e07:30 Bz (REERSE)
10:05 53 30.0 |Z=| {Ri%e10:05 Bz (REAZBE)
11:40 53 30.0 (Z=| {Ri%e11:40 Bz (RAMERSE)
13:20 53 30.0 B {Rige13:20 B3 (GRAERSE)
14:45 53 30.0 BE| {RRiB014:45 Bz (REAEEE)
=23t 371.0 (TR 210.0 EGHKEC: 2460.0, PH: 6.5

EOREREIREETER K (0.64 vs 0.58)), AR S IAEESEIERK
ZRIASERRIERE29. 0 ml.

FERZERPH (10.23) 5i&5EPH (6.5) REK K, FRAT

BEXRERIPH (10.23) 5FMPH (6.5) REK K, HRE

FEREBIEC (2174.0) 5FEMEC (2692.0) BEKRK, BHH/E
EURGEBIPH (10.2) 58 FEE (6.5 REK K, BT,

LORGEEBIPH (10.2) S5#EAGE (6.5) RERK K, BRE.
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m=375, FV0=0 m=400, FV0=0 m=430, FV0=0

—o— mEe | 2687 —o— wme | 2767 —— ME| —o— ME
26.6 - 27.4 -
27.6 -
26.4 - 27.2 -
27.4 -
26.2 - 27.0 -
27.2 -
26.0 - 26.8 -
27.0 -
25.8 - 26.6 -
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400 600 800 1000 375 380 385 400 405 410 430 435 440
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27.2 -
27.0 - 27.0 -
27.0 -
26.8 - 26.8 -
26.8 -
26.6 - 26.6 -
26.6 -
26.4 - 26.4 -
26. 4 -
510 515 520 605 610 615 665 670 675 730 735 740
m=800,m FV0=0 m=860,m FV0=0 m=925,m FV0=0 m=1010m FVO=0
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BfiE) | EBETK (D) | EE (EH/AR) | XK R

06:05 88 30.0 | 1Ri&e06:05 B (KREAERHS)
06:30 88 30.0 5| {Ri1&e06:30 Bz (RAERHSE)
08:30 88 30.0 = {BRiB008:30 B (FRFAEEE)
10:15 88 30.0 =] 1Ri%e10:15 Bz (RERESE)
11:55 88 30.0 E| {Rige11:55 Bah (GRE{ERSE)
13:45 88 30.0 5| 1RiR@13:45 B3 (REAEES)
Bit| 528.0 (6%) 180.0 3ZHKEC: 2500.0, PH: 6.5

FORGEBRRTHC R IR IR 1Y (80 vs 56.0))
EXIASEPRIERE43. 0 ml.

REXFEBPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
ERGEBIPH (10.3) 5iREME (6.5 RERK, BHRE.

EORGEBPH (10.3) SRRAEWY (6.5) RERK, FRE.
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m=310, FV0=0 m=315, FV0=0 m=370, FV0=0
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